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RAR—Y 8L SR D 20254 9R 13-14H
50m 3 Xx20MW 545
IE £z K 4 i | V3R | Hi&E HDCP | HCHi#& B
1 NEE BhE [#BRINE| S 453 112.7 565.7 50m3x20
2 ZH Rt gz B2 I G 544 133 557.3 50m3x20
3 B &2 |#XIE| G 509 470 556.0 50m3x20
4 ER R FRfE R B 563 -7.7 555.3 50m3x20
5 AW BE R D 500 52.3 552.3 50m3x20
6 HIfE HF REHER D 502 49.0 551.0 50m3x20
7 €Ik LE FER G 538 118 549.8 50m3x20
8 KiE BAE | B/INSE B 517 25.0 542.0 50m3x20
9 Y BX BRE S 524 15.7 539.7 50m3x20
10 K FE ZHE G 521 13.3 534.3 50m3x20
11 Hed &k =F8 D 519 140 533.0 50m3x20
12 2/ &S H/\S5&E B 555 -22.0 533.0 50m3x20
13 BR fe | #RIE| Ds 507 20.0 527.0 50m3x20s
14 = BT H/\S5E G 475 40.0 515.0 50m3x20
50m P60MW 607.3
JIE 45z K 4 g | V3R | Hi#E HDCP | HCHi#& B
1 #HHE JThR THER Ds 567.2 1025 669.7 50mP60s
2 B EF ANZ&E| G 578.2 59.8 638.0 50mP60
3 =20 BRI G 590.2 45.2 635.4 50mP60
4 ARE R | EREE G 613.6 10.7 624.3 50mP60
5 'R e | #RIIE| Ds 611.3 11.0 622.3 50mP60s
6 EE Iz B2 18 D 579.6 38.4 618.0 50mP60
7 il %= |#®FRINE| D 614.4 2.8 617.2 50mP60
8 #l &F aleg Gs 610.7 5.9 616.6 50mP60s
9 I =mE ZHR G 604.6 1.2 615.8 50mP60
10 A BE R D 586.1 28.8 614.9 50mP60
11 IR —2% FaE R P 595.0 18.6 613.6 50mP60
12 M BUE BINE Ss 614.9 -2.4 612.5 50mP60s
13 SR Rl FaE R S 615.2 -3.9 611.3 50mP60
14 €Ik LE FER G 604.3 6.6 610.9 50mP60




15 M BUE AIE S 596.8 135 610.3 50mP60
16 FIE FF RIHER G 601.9 8.0 609.9 50mP60
17 ey EX BiRE S 604.0 5.5 609.5 50mP60
18 =H F HEINE| S 608.1 1.0 609.1 50mP60
19 il = | #ERNE| Ds 616.6 -8.0 608.6 50mP60s
20 NE BE& FRfE R B 610.6 -2.4 608.2 50mP60
21 fll &F aleg 597.5 10.0 607.5 50mP60
22 =1 = ZHE G 568.3 39.0 607.3 50mP60
23 FE EA FRE R Gs 556.8 50.5 607.3 50mP60s
24 INE KBS N S 517.6 89.7 607.3 50mP60
25 B & FER B 600.4 6.6 607.0 50mP60
26 BR BA# HmER S 612.2 -6.2 606.0 50mP60
27 AR EXx |#EIR| G 609.8 -4.3 605.5 50mP60
28 AR E£E ZHIE D 594.1 1.3 605.4 50mP60
29 | WE EEH | RR#E Ds 613.8 -8.6 605.2 50mP60s
30 A #x =58 D 591.6 11.9 603.5 50mP60
31 EhRE Ea | =ZER G 604.7 -1.7 603.0 50mP60
32 A ' RIHER G 606.3 -3.4 602.9 50mP60
33 A A FER G 592.8 0.8 602.6 50mP60
34 R % RIR#ER G 602.3 0.1 602.4 50mP60
35 =BT ANZ&E| G 581.3 21.1 602.4 50mP60
36 i EX =R Ds 586.3 15.9 602.2 50mP60s
37 #wmK EB F5 R D 558.4 435 601.9 50mP60
38 WE 1 FaE R Ds 603.4 -2.4 601.0 50mP60s
39 FR FF FRIEER Gs 586.0 15.0 601.0 50mP60s
40 £l #BE N G 591.6 8.1 599.7 50mP60
41 B2 B T2 D 590.8 8.8 599.6 50mP60
42 | EBHE EF | HEAE Gs 608.6 -10.1 598.5 50mP60s
43 wE B4 12 P 556.9 325 589.4 50mP60
44 8 M5 ZHE Ps 571.4 17.2 588.6 50mP60s
45 BE &2 |#XIE| G 586.9 0.7 587.6 50mP60
46 KiE BFH FRAER Ds 551.2 29.4 580.6 50mP60s
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AR—Y L EIR DR 202549 A 13-14H
10m APB6OMW AP-540 / HR-370
B iz K £ g | V3R | Hif&E HDCP | HCHi#& EH

1 EH REF | BRHA S 552 10.7 562.7 AP60
2 mx 52 FHiE R S 527 30.7 557.7 AP60
3 MO mF REBAT G 341 375 549.0 HR40
4 ZH HEEF | ZKR#E B 358 12.0 549.0 HR40
5 B ER KB AT S 544 2.7 546.7 AP60
6 SN T Jad IIEE D 534 10.3 544.3 AP60
7 e Mk RIRED G 507 34.0 541.0 AP60
8 ZH HEEF | ZKR#E B 488 52.0 540.0 AP60
9 e =4 RIRED B 375 165.0 540.0 AP60
10 £k ER FER S 534 5.5 539.5 AP60
11 NG B EHE S 525 14.0 539.0 AP60
12 RER 7 FER D 517 17.0 534.0 AP60
13 | %R BES | =ZER G 526 7.3 533.3 AP60
14 fEIL Eth IR S 528 3.7 531.7 AP60
15 NG FE EME S 525 2.6 527.6 AP60
16 =0 HBAE N G 504 20.0 524.0 AP60
17 B SCH RIRED G 342 35 516.5 HR40
18 E FEB ZHE G 353 162.6 515.6 AP60
19 IR ILE FER G 468 450 513.0 AP60
20 FHLE fE LER S 469 41.7 510.7 AP60
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RAR—Y L ER D 20254F9 A 13-14H
10m ARB0OMW 575.9
B iz K 4 iz SR | A& HDCP | HCHi#& EH
1 NEE BhE [ABRINE| S 529.8 705 600.3 AR60
2 TE BE | BNTE| B 616.0 -323 583.7 ARG0
3 I8H 7 FER S 563.2 18.5 581.7 AR60
4 K WE BHE G 584.1 -2.6 5815 AR60
5 B4 R RIRED S 583.6 -3.0 580.6 AR60
6 =H F wWENE| S 594.4 -18.0 576.4 ARG0
7 F5 IR FRRE IR S 574.5 -0.9 573.6 AR60
8 HIfE ¥ REHE D 563.4 8.2 571.6 AR60
9 FHLE = LBR S 584.6 -16.2 568.4 AR60
10 fEIL Eth FRIEHER S 578.3 -125 565.8 AR60
11 B Bk FER B 566.3 -13.1 553.2 AR60
10m P60M 617.0
B iz K 4 Az SR | BiE HDCP | HCHi#& EH
1 MR RE ZHE G 618.2 5.6 623.8 ARGOPR
2 I8A 7 FER S 607.9 12.7 620.6 ARGOPR
3 IR —2 FRiE R P 621.9 -1.8 620.1 ARBOPR
4 HiE 2R |#ARINE| G 622.0 -2.3 619.7 ARGOPR
5 =H F wmEJIE| S 631.4 -120 619.4 AR60PR
6 R BB G 622.9 -6.8 616.1 ARGOPR
7 TE BRE B/\5E B 628.2 -13.7 614.5 ARG60PR




